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/sd ?= 

1 jg, jftfj/0f tyf ljkb Joj:yfkg tkm{
1.1 ljkb Joj:yfkg sf]if 4000000 4000000

1.2 O{nfsf jg sfof{no hogu/df tflnd xn lgdf{0f
;+Vof

1 ^ 800000 0 0 800000

1.3 xl/ofnL k|j4{gsf nflu lj?jf pTkfbg sfo{s|d xhf/ 50 !–!! 700000 0 0 700000

1.4 kmf]x/ d}nf Joj:yfkg ;+Vof cf=c= !–!! 700000 0 0 700000

1.5 ;'s'Djf;L klxrfg tyf Joj:yfkg ;+Vof cf=c= !–!! 400000 0 0 400000

1.6 hnjfo" kl/jt{g cg's'ng tflnd ;+Vof cf=c= !–!! 200000 0 0 200000

1.7 hnhnf hnfwf/ If]q lgdf{0f ;+Vof 1 !–!! 500000 0 0 500000

1.8 jg tyf e'–;+/If0f cg'bfg 200000 200000

ag tyf aftfj/0f tkm{sf] hDdf 7300000 0 200000 7500000

2 phf{ tkm{ cg'bfg 0 1636000 1636000

hDdf 7300000 0 1836000 9136000
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